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The solution to Laplace'sequation in
spherical co ordinates with azimuthal
symmetry is
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Since uncharged metal equipotential
at surface of sphere Choose it e O
Then we have two boundary conditions
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Imposition BC 1 on Eg 1
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Inserting 2 into l

Ucr cost
o

re teeth AePeloso 131

Impose BC2 on Eq 3 Since
RDR the second term in the brackets doesn't
contribute
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0 otherwise

Two ways to view why RHS and LHS of
d are Taylor series in r Since the LHS
has only the f l term then so mast
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The second way is to use the orthogonality
of the Legendre polynomials and again
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Thus
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Atthe surface the normal direction is
the f direction Therefore



Those Eo Vcr Coot lr

Eo l 12 East
r

Thou 3 6 cosy

Notes 0 0 Ocasek
TCO East

as depicted in picture


